ZESTAWIENIE STUDZIENEK NA KANALIZACJI SANITARNEJ SK1-SK19

LP| NR SeHENAT D D1 D2 D3 | Rt RD RDI | RD2 | RD3 [H=Rt-RD| K ol @ 3
STUDZ, mmd mmd> mmd mmd | <mnpmd | <mnpmd [ <mnpmd | <mnpmd | <mnpmd m> (sztd | (stopn| (stop>| (stopd

1 = 3 7 5 5 7 8 5 10 il B i3 7] s i3 7
68| Sk39 ats | 315 | 160 160 | 123,20 121,07| 121,07| 121,07 121,07 213| 8 85 90 180
69| Skéo 31s | 315 160 | 123,20 120,31| 120,31 120,31 2,89 1 86 165
ES““ a1s | 315 160 | 123,20 120,19 120,19| 120,19 300 | 12 89 180

71 [Skez gl s 315 315 160 | 127,10| 124,60 124,60 124,60 2,50 | 10 %

Pcy

72| Ské3 35 | 315 | 160 127,10| 124,29 124,29 124,23 288 1 % 180

73| Ske4 35 | 315 | 160 127,10 124,11| 12411| 124,11 299 12 | 178 | %0

74| Sk65 315 | 315 | 160 127,20| 124,02| 124,02 124,02 318 | 12 99 178
75| Skeé ats | 315 | 160 127,00 123,85 123,89 123,89 315 | 12 94 178
76| Sk67 315 | 315 | 160 | 160 | 105,90 123,79 123,79 123,79 123,74 22| s o1 94 178
27| swes 315 | 315 | 160 | 160 |125,80 | 123,64 | 123,64 | 123,64 |12364| 216 | 8 92 90 180




